
petal_length <= 2.6
gini = 0.662
samples = 91

value = [42, 54, 54]
class = l

gini = 0.0
samples = 29

value = [42, 0, 0]
class = c

True

petal_length <= 4.95
gini = 0.5

samples = 62
value = [0, 54, 54]

class = l

False

petal_width <= 1.65
gini = 0.168
samples = 30

value = [0, 49, 5]
class = l

petal_length <= 5.15
gini = 0.168
samples = 32

value = [0, 5, 49]
class = a

gini = 0.0
samples = 27

value = [0, 49, 0]
class = l

gini = 0.0
samples = 3

value = [0, 0, 5]
class = a

sepal_length <= 6.5
gini = 0.473
samples = 7

value = [0, 5, 8]
class = a

gini = 0.0
samples = 25

value = [0, 0, 41]
class = a

sepal_width <= 2.6
gini = 0.32
samples = 6

value = [0, 2, 8]
class = a

gini = 0.0
samples = 1

value = [0, 3, 0]
class = l

gini = 0.0
samples = 2

value = [0, 0, 4]
class = a

sepal_width <= 2.75
gini = 0.444
samples = 4

value = [0, 2, 4]
class = a

sepal_length <= 5.9
gini = 0.444
samples = 2

value = [0, 2, 1]
class = l

gini = 0.0
samples = 2

value = [0, 0, 3]
class = a

gini = 0.0
samples = 1

value = [0, 0, 1]
class = a

gini = 0.0
samples = 1

value = [0, 2, 0]
class = l


